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http://www.cross-spectrum.com/audio/weighting.html
http://www.mathworks.com/matlabcentral/fileexchange/loadFile.do?objectId=21384&objectType=file
http://www.mathworks.com/matlabcentral/fileexchange/loadFile.do?objectId=21384&objectType=file
http://www.dspguide.com/ch14.htm
http://www.tcelectronic.com/media/skovenborg_2004_loudness_m.pdf
http://cnx.org/content/m13115/latest/
http://replaygain.hydrogenaudio.org/contents.html
http://gmplib.org/
http://www.sonicvisualiser.org/
http://www.mega-nerd.com/libsndfile/
http://www.vamp-plugins.org/
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http://crca.ucsd.edu/~msp/techniques/v0.08/book-html/node136.html
http://www.soniccathedral.com/
http://www.hotspot.2ya.com/
http://www.live365.com/stations/fourgem
http://wamu.org/
http://www.live365.com/stations/radioman111
http://www.live365.com/index.live
http://www.mathworks.com/matlabcentral/fileexchange/loadFile.do?objectId=16568&objectType=FILE
http://www.mathworks.com/matlabcentral/fileexchange/loadFile.do?objectId=16568&objectType=FILE
http://www.gnu.org/software/octave/

